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FHAZET 98 114 112 226 Fu HHET 165 161 159 320|%kET—T H 267 246 187 433| HCHHET 222 274 271 545
FRYHT 208 201 213 414 BHHEN 11,990 11,885 12,992 24, 877|#kMT T H 150 157 118 275 e RHHAT 553 687 758 1,445
JEHT 354 335 387 722 FEIT =T H 139 139 120 259 KIEHLX 3,222 4,048 4,178 8, 226

T 541 582 613 1, 195|fiEmT 250 281 307 588| kMU T H 75 54 57 111

& b T 323 330 339 669| HUEAT 3,550 3,888/ 3,927 7,815  ANHRHLIX 9,906 10,739 10,027| 20, 766k A jHLET 323 452 472 924
h iy 282 255 264 519 Fiefar iy 186 207 229 436 AT 200 290 311 601
o)1 | |T 122 121 126 247 A FRET 516 532 558| 1, 090|Hr{fmT 1,054| 1,363] 1,408 2, TT1[3KILET—T H 641 769 898 1,667
KAGHT 615 602 620 1, 222|iTAHT 3,205 3,641 3,711 7, 3528 {k H R T 362 427 463 8903k 1 LT T H 230 274 294 568
SR mT 17 13 18 31| HLIRHT 3,070 3,500] 3,602 7, 102 12T 1,661 1, 829 1,994 3, 823 4R/ N EHT 624 778 818 1,596
AT 52 51 57 108|520 541 626 625| 1,251 B M 937| 1,149 1,146 2, 295| (L4 HT 1,443 1,828 1,974] 3,802
Ry 218 241 283 524 =5 BT 1,277 1,534 1,578 3, 112]  Hrem X 4,014 4,768 5,011 9,779 FE/\IEHLX 3,461 4,391 4,767 9, 158
Jeismy 76 65 62 127| RAspmy 155 156 178 334

JUREHT 115 108 117 225( B SEHT 342 434 481 915 S BFHT 2,614  2,946] 3,095 6, 041|% EhlT 450 498 547| 1,045
AT 143 107 103 210( HHRET—T H 327 396 416 812| I/ \AHT 1,031 1,223 1,172 2, 395| SEIFHT 283 375 388 763
FREHT 79 58 79 I37| R ERIT =T H 421 485 474 959)/1nJUARHT 1,162 1,410] 1,436 2, 846|%HHHET 736 821 856 1,677
TRIEIT—TH 156 154 176 330[HHRET =T H 437 509 515 1, 024| IEASFRT 404 496 541 1, 037| T AT 188 250 233 483
TRIHETZTH 121 143 134 27T ERETIY T H 293 383 412 795 [ EHTE— T H 42 41 21 62 JHmy 1,005 1,288 1,377 2, 665
FRIHET =T B 134 148 150 298| EEILHIX 14,660| 16,572 17,013| 33, 585|f/=ETPE T H 99 104 90 194 #f BT T 602 796 813| 1,609
TAIHET T H 143 176 176 352 MEIT—TH 257 222 292 514| 5 s X 3,264  4,028) 4,214 8,242
TRIHETET R 1 1 0 1| sy 3,581 4,087 4,240 8, 327|fEET _TH 36 34 35 69

NEFamT 443 451 514 965 T —T H 271 304 334 638|RIEAT =T H 15 13 15 28| £ HF HT 5,438 6,400 6,515 12,915
[ SRHT 23 16 23 39| FrdmT — T H 566 641 711 1, 352| I RMTIU T H 126 132 121 253 ST 167 2217 250 477
ELHT 168 165 188 353 A HET =T H 834 881 970 1, 851|{LfAET 1,793 2,149)  2,248] 4,397 AEFHIX 5,605  6,627| 6,765 13,392
BT BT 43 28 44 72| SF MY 1,736]  1,822) 1,978 3,800 I H1X 7,579| 8,770 9,066 17,836

S5 T 185 162 193 355 R 1,434 1,551 1,629] 3,180 KIRHET 412 531 585| 1,116
A 498 524 551 1, 075|527y 186 199 214 4134 H T 470 514 603 1, 17| 5t A MY 484 584 580 1,164
R 36 31 36 67| \TFHRET—TH 459 512 504| 1, 016|RIIFHET 2,151 2,501 2,498 4, 999| & ¥FHT 544 671 626| 1,297
T 91 77 90 167\ FRHET =T H 345 363 398 761| TR T 222 296 312 608| Pt jz5 T 131 162 142 304,
HEFGHT 40 40 44 84|\ FRET=TH 433 477 532 1, 009 & ET 1,043| 1,229] 1,326 2, 555|#K 5T 509 713 724 1,437
T 259 248 255 503\ FARATI T H 378 440 494 934| LT 496 601 608| 1, 209| % j&mT 346 428 388 816
=0 177 184 184 368| [ X 10,223 11,277 12,004| 23, 281|HTEHET 369 385 464 849| 7t 544 T 489 637 649 1,286
DT 595 642 678 1,320 N 2,097| 2,588 2,695 5,283 H{s X 2,915  3,726| 3,694 7,420
RRAIT 35 35 28 63| - Ep T 2,164 2,518] 2,632 5, 150|# HHT 123 171 177 348

AT 521 519 578 1, 097|FE¥F7ERT 33 37 47 84|\ HIX 6,971| 8,285 8,683 16,968| LiwHT 241 338 335 673
FRIT 26 28 31 59| b T 3,340  3,782| 3,678 7,460 TE R THT 131 184 184 368
s FLET 189 171 181 352 L A HERT 351 425 469 894 |- 52 [ T 1,169 1,424 1,459 2, 883| 75 HHET 136 204 193 397
JE T 180 164 189 353 My 613 635 667| 1,302 T EmT 1,828 2,167 2,239 4, 406| FHEHT 369 487 466 953
AT 380 367 399 766 T EFET 1,090 1,330 1,339 2, 669| 1L ET 793 952| 1,009 1,961 EHT 279 419 414 833
Pk BT 38 33 44 77| FZykHT 1,325 1,665 1,723 3, 388[AL/AfRET 404 457 518 975 P A T-HT 365 423 384 807
A AT 1,583 1,629 1,800 3, 420| FrjEHT 898 1,143 1,129 2,272| X 4,194|  5,000] 5,225 10, 225 /\i%J5HT 302 413 447 860
i HH T 205 208 235 443|814 BT 389 463 483 946 )1 Hh X 1,823 2,468 2,423| 4,891
i-tzLa) 124 131 148 279 ERT—T H 500 598 540 1, 138|7fET 471 601 575| 1,176

FEHT 168 146 157 303|HENT =T H 1,410 1,496 1,786 3, 282| 45 HumT 423 558 544 1, 102| BP0 = & 474 647 631 1,278
B JehT 198 196 256 452 FEHT =T H 599 682 762 1, 444| e my 154 211 197 408 vHImT #E H 425 571 561 1,132
AT 189 163 200 363| FEETIU T H 597 708 720 1, 428|417 0T 133 178 185 363| A HIRT A 169 240 243 483
JCAH R 69 57 31 88| M MT 852 979 1,007 1, 98611 mT 1,122 1,432 1,499 2, 931| B HET A K 116 154 162 316
N1 342 367 433 800| FiH 2 T 546 602 545 1, 147|REHTIRET 359 457 496 953| i ET ) 1 f 340 414 442 856
kg 242 187 254 441|  EBFHIX 14,707 17,063 17,527| 34, 590|4sfmT 431 547 564 1,111 AvAHLX 1,524 2,026 2,039] 4,065
(L1 i ET 110 101 107 208 Frldmy 232 311 317 628

ST 89 81 100 181] b/ ST 776 893 969 1,862 RIFHIX 3,325 4,295 4,377 8, 672|SEHRMT PR R 715 891 978 1,869
P R ET 37 45 42 87| b/ 448 565 625 1, 190 FEHOMT A 85 108 124 232
AT 42 54 48 102| LA MY 2,955| 3,068 2,672 5,740 LIHEMT 1,137)  1,343] 1,361 2, 704| ZEHEHTRAZ IR 332 221 205 426
FE LT 71 78 75 153 /N JSHT 2,145  2,332] 2,159 4, 491|715 KJHET 280 380 397 77| FERRT K5 879 1,208 1,251 2,459
HIAEHT 240 248 281 529| F/INEEHT 1,545  1,657| 1,557 3, 214|4EidHT 610 807 838| 1, 645|FEARMT A = 400 560 559| 1,119
ESN) 391 343 387 T30| FUHEAT 1, 406 1,628 1,563 3, 191 FRJHEAT 420 557 553 1, 110| ZEGkmT |2 1,231 1,577 1,635 3,212
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SRR S 710 959 1,001 1, 960| & HEAT/IMil 141 214 222 436
BT R [ 326 499 498 997| 5 HMT F (L 191 288 268 556
ST 3 Ml 205 293 281 574| 5 HAT AR 440 612 608| 1,220
FEPRHTFD 1L 146 204 217 421 FHITHE) 264 351 340 691
FEHRIT 51 410 537 574 1, 111 & JFAT 500 733 686 1,419
FEPRHT 6 5 9 14| 5 HHT R H 402 555 593 1,148
SEBITHA AR 852 1,204 1,218|  2,422|EHATLE] 102 151 155 306
FEPRHT AR i 516 1,938] 2,051 3, 989| 5 HMT 5 31 45 49 94
S I X 7,813 10,204 10,601| 20, 805| 5 H:HTf 289 424 431 855
AT 210 193 236 429
Aty 3,285  4,207| 4,356 8,563 HHI A 39 60 58 118
JE T 482 1,848 1,978 3, 826| & HMT KR 13 13 17 30
5 pEmT 433 577 645  1,222| HHIT LR 373 532 539 1,071
B HET 147 207 209 416 & HMTERIR 39 55 69 124
Fiur 28 240 277 271 548 E M4 Hf 130 178 170 348
H7KHT 76 119 119 238| E AT S 131 202 213 415
% JE [T 70 102 114 216| 5 FHMT/Nef 338 469 487 956
HE ST 188 272 279 551| F5 H-0T HfE 106 164 180 344
74 [E] Sy BT 217 323 315 638| 5 HMT A H 166 220 213 433
Je T 329 382 387 769 E HMT/INEE 210 306 303 609
T AT 3,031 3,989 3,891 7, 880| MG 545 746 724 1,470
EANT 1,170 1,455 1,477 2, 932|EHHITRIE S — T H 327 403 422 825
= SRET 663 894 898 1, 792| HHRTRER S T H 360 439 483 922
Hh gy 1,317|  1,610| 1,614 3, 224|FHHITEIB A =T H 259 367 354 721
e T 1,074| 1,363 1,336 2, 699| & HATEIE 283 425 433 858
rp LT 401 508 544| 1, 052| M FRAE 92 127 137 264,
PRI HH T 584 776 795 1, 571 & HMT _f B 136 193 191 384
F T 489 610 673 1, 283| & HMTH 1 59 92 91 183
TR 55 i X 196 19,519| 19,901 39,420| EHHIX 9,140 12,418 12,625 25,043
By 5,488  6,248| 6,374 12,622
ST Hi (X 5,488  6,248| 6,374 12,622
e T 152| 1,525 1,634] 3,159
rpr T 963 914 1,115 2,029
S T 453 614 605 1,219
B4 g 109 65 92 157
R4 1T 44 42 63 105
R EAT 358 535 552| 1,087
T EL LT 889| 1,180| 1,252| 2,432
rp L BLRT 659 902 911 1,813
- HL LT 977| 1,310 1,345 2,655
YT 857 1,178 1,189 2,367
TR 684 929 975 1,904
T 158 232 238 470
+-3eEEmT 199 280 267 547
B IRET 334 486 472 958
= R AT 105 135 138 273
AT 118 165 167 332
B, Hi X 059 10,492| 11,015 21,507
FAHTE IR 637 799 807 1,606
EHHTE I 153 1,417) 1,445 2,862
FHT R RAR 215 309 318 627
FHHTRAR 959 1,336] 1,383 2,719 184, 849| 190, 521| 375, 370






